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Problem 1:

Fit function to x,y datain file datal.asc

d = load('datal.asc'); % load data fromfile datal.asc into matrix d
x =d(:,1); % assi gn 1st colum of d to vector x
y =d(:,2); % assi gn 2nd colum of d to vector y

fig = figure(l);
fig.Position = [0.1 0.1 450 300];

clf(); % clear figure

sem logy(x,y, '"bo-', '"linewidth', 1.5); %plot data as blue |ine
hol d on; % hol d figure

grid on % pl ot a coordinate grid

yapprox = 400*10.7(-1.1*x); %constants estinated from graph of data

plot(x, yapprox, 'r-', 'linewidth' ,1.5) %red dotted Iine
x| abel (" x")

yl abel ("y")

| egend(' data', 'approxination")

title(' Problem 1: exponential fit, y(x) =c 10°{nx}");

Problem 1: exponential fit, y(x) = ¢ 10™
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Problem 2:

Fit function to x,y datain file data3.asc

d = load('data3.asc'); %load data fromfile datal.asc into matrix d
x =d(:,1); % assi gn 1st colum of d to vector x

y =d(:,2); % assi gn 2nd colum of d to vector y

clf(); % clear figure

logl og(x,y, '"bo-", "linewidth', 1.5); %plot data as blue line
hol d on; % hold figure

grid on % plot a coordinate grid

yapprox = 0.2*x.”(-0.58); %consts estimated from graph of data

pl ot (x, yapprox, 'r-', 'linewidth ,1.5) %red dotted |ine
x| abel (" x")

yl abel ("y")

| egend(' data', 'approxinmation")

title(' Problem 2: power-law fit y(x) = c¢ x*m);

Problem 2: power-law fit y(x) = ¢ x™
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